Numbrix (Challenging)

Fill the grid with the numbers 1 to 64 in such that they make a path of consecutive
numbers in sequence. You can move horizontally or vertically, but not diagonally.

121151161718 |19|20
21
22
52123

(64)35(36 47|46 |45 24
5
4
3

25
33|38 26
27

1
0
9
3
7
6
(D
2

copyright:  www.mathinenglish.com



Answers

121151161718 |19|20

11

10113 ]14|57|56(55|54|21

916216158149 (50|53|22
3 [6360(59(48|51(52|23

7 (64)35(36|47 |46 |45 | 24

6|5 (343740 (41(44|25

(1) 4{33|38]39 (42|43 |26

213 1(32|31(30(29|28|27




